BIKE

Monteringsanvisning

P b
|
|
\ \ ‘ \
| | ‘a
| |
| | ]
[ \ g
| |
| |
\ |
| |
| |
\/

WELAND ALUMINIUM AB

Bjornstorpsvagen 2, SE-342 30 ALVESTA
Tfn: +46(0)472-445 00



> @
o
l

M10x60
?8,4 M8
M8x60/ M8x45/50
] —_







C/IC c/iC

Montage instruktioner
Expanderbult HSA M10x83

n ' hnom=60!




= =




| i

1_5 | |

1)
° mlﬂn';
M8x60

— —_—
———IN—












